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MANAGEMENT (PAPER-I}

Time Allowed : Three Hours Maximum Marks ; 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions 1n all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be
attempted choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against 1it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the

authorized onec.
Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left
blank in the Question-cum-Answer Booklet must be clearly struck off.
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1.

JUs—A / SECTION—A

Creferfad 8 geds 1 oW 150 seel § 34 4o

Answer the following in about 150 words each :

(a)

38 HOW H had Th B IS W R, 9 @ aiEdd ) §8 dhed W fdwft sy e 1 |

T R T34 Bq 39 HEwqol 1 §—3ATaed AYS] Tidgd-?

“There 15 only one thing permanent in this world, i.e., change.” Comment on
this statement. In your opinion, what 1s more important for a government
organization—stability or change?

(b) W awkREl d stfuFiy f9def 21famm qen fawm T4gie & Jevdl = @0 &6 3 36 '

(¢

(d)

(€)

(a)

2| fafim ggma difso arfes fageh wfiem ¥ fafm w yoms 8 gur & snoa%)

Most of the government officers fail to serve the purpose of overseas learning
and development assignments. Suggest different interventions which can
improve the return on investment on overseas training.

() F Al TR F THE 87 HUA I F TR FY H TE AN |
(i) 8w FAEYd FE F AT Y 999 F offr i fad=a i

(1) Whether all types of stress are bad? Justify your answer.

(i) Discuss the role of Yoga and Meditation in managing stress.

o
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faeryen=al, gegaried auy As7ad, F SAtE 7 ST9ARN S @)

Apart from physical ability, language, intelligence and emotional stability,
honesty and integrity are the two most sought after characteristics required in
any candidate. Describe the techniques followed in Recruitment and Selection
to check these two characteristics of honesty and integrity.

“YTE B wmEieE ITETe gaEr &) 3UAT Sgifas AU B @91 Y 39 Ihed 9 GeHd RY
39 I F 3K e |/ el Hifse

“In India, social responsibility is more in theory than in practice.” Do you agree

with this statement? Support your answer with suitable examples.
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HETEA o1 9GR (Teo 3o 3T3e THo ) SHHI UA I 8| H&Y § Tdo Ho 3o THo i
ﬁﬁmmlmmm@@éﬂﬁmmm 3119 fora TN (Uiesged) &) v § W@,

UF W3 H HHAa GE19H] sl Gl Tl Y&H 6 Foh !

New generation Human Resource (HR) managers are well-versed with numbers
and technology. Human Resource Information System (HRIS) is one example of
1t. Briefly discuss HRIS. What attributes will you consider while framing an HR
dashboard metrics, which can give a realistic picture of Human Resources in
an organization?
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(b)

(c)

(d}

(aj

(0)

()

(d)

20 AT F Yy e e YRR deR % At vaw faga @ fim 27 #n % o
TiqqTed BT Ya ﬁl@l-—d AT ﬁm%ﬁﬁ%@wgﬁaw%@mﬁw %? 2991 39 4
Higd g e

In what respect 1s Henri Fayol's contribution to management different from
that of Taylor’s Scientific Management theory? Do the general management

principles given by Fayol still hold good and are they relevant to the modern
organizations? Justify your answer.

F™ G ) 27 Th TACHF U AT GISATHF HERG 7Y SAEYIE T S 90E1 wEd
Fifsu | TeAt-hre wfaafiar 8 fawam w3 % fau 91 F 98 39 g9-we 0 27

What 1s a learning organization? Outline the prerequisites for a creative and
innovative organizational culture. How does it help the organization to survive
in cut-throat competition?

U G HAIM & ey 1 qearsd F R GHd 27 360-Te feures genea fafu 6
forar=m s | geare wiswan 1 1T #1 F0 QR TR 87
How can the performance of a government employee be appraised? Discuss

3b60-degree performance appraisal method. How can the barriers in the
appraisal process be removed?

g1 Td G991 dohHTeh (3130 Hlo Flo) & 3PHA % WY YoY% Wt Fraters 31 7 ggq afEdd
BH| T8 Hav 1 3T <91 H HHE §H18F T694 (Tdo HRo THo) & =l gfqmmd gifaa =i
IEEEEHENELS

With the advent of Information and Communication Technology (ICT), there
has been a sea-change in all the functional areas of Management. In this

context, discuss the future challenges of Human Resource Management (HRM)
arca 1n the next decade.

ol faehgeRt 31 TR fteeya 2 o foh qol Sl feee difone ) fasheseetm o gof
1 YATIEA R G 92eh] o) AT H0

“Absolute decentralization is as hypothetical as absolute centralization.”
Discuss. Explain the factors which affect the degree of decentralization.

"8 et 9l ® T wan wa usHifa-fadi wmea T g R0 @ A9 wewa £7 31w I Y
10 SIS | Tl 139 | Aol U TSI ) 39 ogal TAea1ed 7 9mensE 9 8 F STl o

gl &7

“It 1s said that an organization devoid of power and politics is lifeless.” Do you
agree? (ve reasons for your answer. How can power and politics in an
organization be positively moulded for better performance?

HISATcHe €31 % TidHd, 9a9-Uidi¥d U 3{TehEyshd] U 8 37 €98 $ifsu | 39 fa=un
4 F19-91 IUTTH T44E &7 R 7

Distinguish among Classical, Neo-classical and Contingency approaches to
Organizational Design. Which approach in your opinion is the best? Why?
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4. (a) ‘‘uEie wE e B e @ed s 1 36 s g fewolt Sifsi) 5 a3
TEYE ST SIS F1 YT 1Y 7 3 G w3 R Ehd 27
“Informal organizations are detrimental to the interest of formal organizations.”
Comment on this statement. In what ways can managers make most effective
usc of informal organizations to their advantage? LS
(b) AT HAEE § 9 1 GEHd 27 38 R yER 99 S Awar 87§98 e H fad At
&3 % ITFH (dte THo o) I IR T
What do you understand by employee morale? How can it be boosted? In this
context, give example of a Public Sector Undertaking (PSU). 'S
(c) ‘‘sgfFea w0, SATET sgagR ) udIfad G §1 w1 3 HeHd 2! YA I g B AN
dqen 39geh Iareon i Ay
“Personality factors influence individual behaviour.” Do you agree? Give
reasons for your answer and also give suitable examples. 10
(d) T 3 EEFA & % Y€y & gradm fagra 2, S wwed e ad YSUS] F1 GHAd T 9974
Hd §7 ITYTE IaTEVN WiEd 3T IW F FAYA HIf
Do you think that there are universal principles of management that affect the
success of all organizations and managers? Support your answer with suitable
examples. 10
©"us—B / SECTION—B
5. frefafad § @ 9% &1 @ 150 W=l ° I FNT
Answer the following in about 150 words each 1 0%x5=50

(a)

(b)

(c]

gham Hifsu 5 2 gE vd F=9R a9 (350 He Fo) § wrmftEh fawom ik wd A F
F7-TaET F1 e 989 101 | UG I3TRN I HEEd H HYH IH T FHli

Examine as to how Information and Communication Technology (ICT) has

transformed the traditional marketing processes and buyers’ purchase
behaviour. Justify your answer with the help of suitable illustrations.

" RETRTO] AT 3T T ST HEAT % wey ek TR fadk iordty s @ s
Foft-Ff) W B HHa1 §1) 3G 2R wgd 39 awhed F1 e e |

“Accounting ratios are mere mathematical relationships expressed between
interconnected accounting figures and at times may be misleading.” Elucidate
the statement with suitable examples.

5= Wy A gafud el el ) jag B e i) g4 F afuFan W g
~7aq TR fiuii@ #6 ae $H-99 3 1 27

Explain briefly the costs and benefits associated with holding inventory. What

are the considerations determining the maximum level and minimum level of

inventory?
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(d)

(€]

(b)

(c)

Fre dq ulEFEm Ar[-Ruie (Fifen) 5 98 #ien) 39 3@ & oft §qke, 8O3
ard-Fautoo fafemt sam #t St 8

Distinguish between Job and Process costing. Also state the industries, where
the above costing methods are used.

e’ wd ‘Tehadr wHIfd 3 3= Aife | 3 fauom fesfagt w1 Iugw eTen | we i,
At T Zha O 3T 7 faaueeal i s wrfed s @

Distinguish between ‘pull’ and ‘push’ strategies. Explain the marketing

situations with suitable illustrations that influence a marketer’s decision to
adopt ‘pull’ vs. ‘push’ strategy.

fova U 3T B 21% @ f) atfvs B % Wiy wrd fava 9 gy w1 geg 991 IAEE B R
fi sratffim SR B 3o T g ) sridig SRl 8 9Rd % Y IR & [ weTe
AT &q U 9% SR MY JISHT IR F 10|

India is the largest producer of milk in the world accounting for over 21% share
in global milk production. However, its share in the international market
remains negligible. Prepare a comprehensive Market Research Plan to explore
potential for India's dairy products in the international markets.

AT sEagal & giEfeendt-ien afemewn & smrem #ifsw) 39 g &+ oft
ATATHATHS qiiaro) IS, I 376093 Tiehes 1 &1 341y HLdl €|

Explain the Modigliani-Miller hypothesis of dividend irrelevance. Also critically
examine the assumptions underlying the irrelevant hypothesis.

e fofo # =9 T # 8 q@ A AW (30 o 3o Fo) & 5,00,000 B FEGHH H FH W
12% 3Ngd &md, K, % € 20,00,000 & 39 H01 8| geed! Lol 1 ovmE, K, 18%

gETiAd )
(i) OO 3ATTH 1 WA A BY BH I GaAH Gl a1 i)

(i) wH ) T O @, K, i@ it

(i) W8 & 10,00,000 F G F1 folmm &0 @1 fa=m w= @ ? a1 & 10,00,000 F F9
F1 OIS a1 S G | 0 W HUHTEa T F A ) faes § & SeraEy
w F 3R IS A AE 16% T "

1 AT YEATSd el 61 IITE] 7
Mohan Ltd. has earnings before interest and taxes (EBIT) of ¥ 5,00,000. The

firm currently has an outstanding debt of € 20,00,000 at an average cost, K; of

12%. Its cost of equity capital, K, is estimated to be 18%,
(il Determine the current value of the firm using the traditional approach.
(i) Determine the firm’s overall capitalization rate, K.

(i) The firm is considering to issue the capital of ¥ 10,00,000 in order to

redeem & 10,00,000 debt. The cost of debt is expected to be unaffected.

However, the firm’s cost of equity capital is to be reduced to 16% as a

result of decrease in leverage.

Would you recommend the proposed action?
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Y, U, @R 9 TS A B oft T
fafiTdiemo 3eqm A 8 dafcas qfven W

(i) 'WIUE SRS Td HIUE YEEH § 3 e

0T L HSEA FUS] F Ford fobn S B | T
il < e i)

(i) Creating differentiation even in commodities such as milk, water, edible

oil, etc.,

strategles employed to create such differentiation.

(1) Differentiate between ‘brand equity’ and ‘brand identity’.

lead to creation of strong brands. Explain alternate branding

(b} 4 afETR gogd wigd (Hlo Ue Mo UHo) w1 B7 3HA YTy FrA 1 £¢ US IR @

(Hto wHo o) al Widd I @1 (THo WHo To) T 3T 8 37T F ¢

What 1s Capital Asset Pricing Model (CAPM)? What are its underlying

assumptions? How will you distinguish between Capital Market Line (CML) and
Security Market Line {SML)?

(c) = Fiaar g fagda A 3R B wF-g@ & e foyg 21 29 gum oen ) fafeen w
HiUFR W@d 8, 89H ®9 8 & 1,250 fhra gE1d ¢ wa 394 IR 8] THEEE Hed IEHed 2
fesral Bl qa1 8 A A o 731 F#H9 Tt fom 2 v B A ) smm gt B o= oo

frefera 2
i fashdr A fashdl B
faFa ¢ 8,000 ¥ 4,500
faghia aeg % @A s 1 50% a3 #1 50%
CEC ¥ 2,250 ? 750
g FHfatad 7 & It e
(i) =AREn HAY & FN faghar A, Tashdl B ¥ @1 71 AI9eE 8

(i) FEHETE ) qE 3 959 R R g1 Id 280 v fashal B &1 fahan faseg g B,
R Bl 3%q 9= 3™ & 350 §7

Two competing retail vendors A and B are located adjacent to each other. Both

occupied buildings of the same size, paid the same rent, 1.e.,

v 1,250 and

charged similar prices for their products. Vendor A employed three times as

many employees as B and has twice as much income as B. Other data are as
follows

Vendor A Vendor B2
Sales ¢ 8,000 ¢ 4,500
Cost of Goods Sold 50% of sales S0% of sales
Wages € 2,250 § 750

You are required to answer the following questions :

(i) Explain why vendor A is twice as profitable as vendor B.

(11} By how much vendor B’s sales have to be increased in order to justify the

doubling of the number of employees at the same rate of pay, if B’s desired
operating income is ¢ 3507
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(d) N TR FEN % e § 6 F FHA0 g AT R S 27 forfe ad 3 wf 80 ¥ e
1 HH FR & F Ay F TR 1 geaf F SR g, @ el @ A0 a6 g o
] grafd |ORH B 916 i 27

Is depreciation charged due to fluctuations in the value of fixed assets? Should
depreciation be provided even if the firm is in loss during the financial year? Do
firms charge depreciation on fixed assets, although the market value of the
assets 1s higher than its book value? 10

8. (a) TF ®H % Ushg WaTR a1 F1 YA faawn § o7 wyy $ifaw) 35 fHaoi #1 897 =@ &1 9491
He™ &7
Distinguish between Cash flow and Fund flow statements of a firm. What is the
significance of preparing these statements? 10

(b) IS0 TSN H St H AT B R0 g 27 ] YEE 9l ) o, |99ar 19 Y g § $
gl 87 3194 I g 0 W FHifsu)

What 1s the significance of cost of capital in capital budgeting? Is the cost of
prefercnce shares lower than the cost of equity shares? State reasons for your
answer. 10

(c) TF ®H #1 fapa & 20,00,000, sfadasiia @ & 14,00,000, =R 06 € 4,00,000 a9
10% =411 1 20 8 & 10,00,000 F0 2| F=TeH, fodfla wa g foats 1 o difse) ofz
TH TS Gd FX 8 Td e (3o So g0 o) AN TAI AT el B, 1 Ufawid ¥ YR W
fosrar @ fopaft afg ) stravgsa Brfi?

A firm has sales of ¥ 20,00,000, variable cost of & 14,00,000, fixed cost of
¢ 4,00,000 and debt of & 10,00,000 at 10% rate of interest. Calculate the
operating, financial and combined leverages. If the firm wants to triple its
earnings before interest and tax (EBIT), how much of a rise in sales would be
needed on a percentage basis? 18

(d) () U@ gg U HE $B Id 2 T4 fauvm w2 oft uw wrtfas g W s R, S fae a9t
8 yfaaif & fowg <21 91 ®) 3% g 1 9ma § yefea sfae fawos sgegrl # wed
7 udiaror it |
ti) Atk taueH geerl 1 fFaba F0 Tl afs FrE R aw yads @9 % 989§
qeTeh ShifeTu |

(i) ‘Everything is fair in love and war' and marketing is considered to be a

strategic war fought against competitors in a civilized manner. Examine
the above axiom with reference to prevalent unethical marketing practices
in India.

(i) Briefly evaluate the relevant legal framework and enforcement mechanism
to curb unethical marketing practices. 15

* & &
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